Mast nr.: 21 22 227 23 24 25 26 27 28
Spennlengde(m): 1238 I 1529 T 1535 | X ] 1431 I 95,0 1 1900 1700 T 243,0 1 200,0
Mast, tegn.nr.: €-101599 €-101596 €-101599 €-101596 €-101596 €-101596 €—101596 €-101599 €-101599
Mast, type: BMRA BMR BMRA BMR BMR BMR BMR BMRA BMRA
Stolpelengde, benlengde(m): 14-14 18-18 15-15 20-20 17-18 19-19 18-18 15-16 18-19
Jordbandsdiameter(cm): 41-41 47-47 41-41 47-47 44-45 45-45 44-44 42-43 48-49
Fundamentering Spr. Spr. Spr. Spr. Spr. Spr. Spr. Spr. Spr.
Traverstype, dimensjon: B—11102,HUP200x200x6 B—11100,HUP250x150x6 B—11102,HUP200x200x6 B—11100,HUP250x150x6 B—11100,HUP250x150x8 B—11100,HUP250x150x8 B—11100,HUP250x150x8 B—11102,HUP200x200x6 B—11102,HUP200x200x6
Isolatortype Kompos. 2x160kN Kompositt 120kN Kompos. 2x160kN Kompositt 120kN Kompositt 120kN Kompositt 120kN Kompositt 120kN Kompos. 2x160kN Kompos. 2x160kN
Armatur: Avsp. A12321 HK, A-12319 Avsp. A12321 HK, A-12319 HK, A-12319 HK, A-12319 HK, A-12319 Avsp. A12321 Avsp. A12321
Pil, str.for.line: -5,5,15,25 °C 111,122,133,145 1689,186,204,222 170,187,205,224 58,64,70,77 148,163,179,195 65,72,79,86 273,301,330,360 233,256,281,306 446,491,538,586 291,321,352,383
Pil, jordline:_-5,5,15.25 °C 125,135,145,155 180,206,221,237 192,207,223,238 £6,71,76,82 167,180,194,207 74,80,8591 508,333,358,363 262,285,304,526 503,543,584,625 328,365,582,408 |
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